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I e

II. 37K
. 3R Raetsh

IV. Seqatas

What is the correct chronological order
in which the following rulers ruled in
India ?

L. Sher Shah Suri

II.  Akbar

III.  Ala-ud-din Khilji

IV. Iltutmish

(A) IV,LIOLI (B) IV,IIL LIl
(C) LILULIV (D) HLIV,LII
=1 5 9 < 9 9q R & g8 9 2
(A) TERM (B) =

(C) -mcd (D) YHUEE

Which one of the following saints was
contemporary of Shivaji ?

(A) Tukaram

(B) Chaitanya

(C) Namdev

(D) Shankaracharya

T b TIH T A hid & 2

(A) WAEFAEa  (B) WSaNdEE
(C) wefdes (D) e fd
Who was the first Governor-General of
Bengal ?

(A) Lord Clive

(B) Lord Warren Hastings
(C) Lord Lytton

(D) Lord Ripon

(A) T (B) ferfehea
(C) dregehe (D) Tord
Charakasambhita is a work on

(A) Polity (B) Medicine
(C) Architecture (D) Mathematics

BETA21

A asA A eI ag T8 8 2
(A) B.C.261 - wfenyg
(B) AD.78  — 3 Had hi YEATT
(C) AD.622 - YWY E

(D) AD.1709 — 3fiTsiE &l gy

Which one of the following pairs is
incorrectly matched ?
(A) B.C.261 -

(B)
©

The Kalinga
War
Commencement
of Saka Era
Commencement
of the Muslim
Era

Death of
Aurangzeb

A.D.78 —

AD.622 -

(D)  A.D.1709

3T © TRl WA & “TUg 37ieg B4 o 1
T ST AT 2

(A) TEME RS (B)  gooy, ©f. Ssff
(C) TRISRIEHE (D) AT Ssit
Who among the following is known as
the “Grand Old Man” of India ?

(A) Dadabhai Naoroji

(B) W.C. Bannerjee

(C) Pherozeshah Mehta
(D) Surendranath Bannerjee

T 1915-16 § forEeh A | @ 8F &

A AE TS ?

(A) T 98 3T ArRa= foeteh

(B) faetes 3R <1eTt @retud T

(C) Taeres 3R fefomrag uret

(D) faeres 3R arfe< =y

Two Home Rule Leagues were started in
1915-16 under the leadership of

(A) Annie Besant and Lokmanya Tilak
(B) Tilak and Lala Lajpat Roy

(C) Tilak and Bipin Chandra Pal
(D) Tilak and Aurobindo Ghosh




8.

e =1 foeTH ot
a.  ST& THTS 1. T faeesrr=<
b. THFW feE 2. G HCEE
c. IFEAE 3. [HHARA
d. Hosiuss 4. . ofiteRie]
TS RIEEY
5. SR gl
Match the following :
a. Brahmo 1. Swami
Samaj Vivekanand
b. Ramakrishna 2. Dayanand
Mission Saraswati
c. Arya Samaj 3. Ram Mohan
Roy
d. Satyashodhak 4. K. Sridharalu
Samaj Naidu
5. Jyotirao
Phule
a b c d
(A) 2 3 5 1
B) 3 1 2 4
<) 3 1 2 5
(D) 3 2 1 5

Ll AT TR T AR Tohe T ?

(A) TER YA

(B) SETETS 8%

(C) Y=g 9"

(D) w&Te meft

Who gave the slogan ‘Do or Die’ ?
(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhash Chandra Bose
(D) Mahatma Gandhi

i 10.

11.

12.

13.

e GHTTEG S 4 TR T I 6
I UG | BT ¢ 1 39 S 1 T
fopa femmma 7

(A) SETEET T8

(B) iy Haman

(C) 3. Tl JETg

(D) .. FHuer

When Subhash Chandra Bose resigned
from the Presidentship of Indian National
Congress, the seat was offered to

(A) Jawaharlal Nehru

(B) Pattabhi Sitaramaiah

(C) Dr. Rajendra Prasad
(D) J.B. Kripalani

TeATed 9~ ferteft i feha A fRra 2 7
(A) S (B) TR

(C) T = (D) =™

The Salal hydro-electric project is
located across the river

(A) Jhelum (B) Ravi

(C) Chenab (D) Beas
S foryd B 2 -

(A) 219=H (B) 18I

(C) 23Fa=r= (D) 22 femwr =i
Vernal Equinox takes place on

(A) 21°March

(B) 18" June

(C) 23" September

(D) 22" December

T | Eae! qisAr fehdeh 3cate
% feu wferg 2 7

(A) & (B) %@

(C) dis (D) UMW
The ‘Khetri Project’ in Rajasthan is
famous for the production of

(A) Zinc (B) Steel

(C) Copper (D) Aluminium

BETA21



14.

15.

16.

SIS UF 3uH e 8

(A) TE I (B) /@m

(C) ufsamsmer (D) A

The Kaziranga National Park is situated
?JIX) Madhya Pradesh

(B) Assam

(C) West Bengal
(D) Kerala

freferfad § & 9 = feamerh 78 7 6
afeatd 2

I HEd

I T

I S

V. TeEd

(A) 13RI (B) II3MRIII
(C) MRV (D) L3RIV

Which of the following are rivers of the
Himalayan river system ?

L. Kaveri

II. Ganga

III.  Brahmaputra

IV. Godavari

(A) TandII (B) IIand I

(C) MlandIV (D) HandIV

Sh A H AT R -

(A) HTEHRI gRI &t STH FTel S &

(B) 3TIHfad sl gRI &t S dTeft
TS T

(C) SR T3t o o Y X

(D) <% HF Sh g ot I et
TR S T

Bank rate means

(A) Interest rate
moneylenders
Interest  rate
scheduled banks
Rate of profit of banking institutions
Official rate of interest charged
by the Central bank of the country

charged by
(B)

©)
(D)

charged by

BETA21

117, Afe SR 3MTE. The IV I T ¢ A

—4-

18.

19.

TG ISt O T STECENTT 2
(A) IS 318 TE BT |
(B) =2 Ul |

(C) gt |

(D) 9 | %I T

If RBI reduces the cash reserve ratio,
what will happen to the credit creation ?

(A) There will be no impact.
(B) It will decrease.

©)
(D)

3T ¥ fop TehR i Srdeawen § ware
w st efesPr B0 & 3 anfes
Tfafaferi 1 ge g9 oy ARG HE
BT 8 ?

(A) Tftard (B) TSIt
(C) Tt (D) afvaes

In which of the following type of
economies, resources are owned
privately and the main objective behind
economic activities is profit-making ?
(A) Capitalist (B) Socialist
(C) Mixed (D) Global

It will increase.
None of these

1 %9 1 AIE fohHeh G ENEINd BT § ?
(A) 3TR.&1.318. o

(B) WRd o TgUfd

(C) foawsh

(D) T afea

The One Hundred rupee note bears the
signature of :

(A) RBI Governor

(B) President of India

(C) Finance Minister

(D) Finance Secretary



20. %A1 (FEMA) &1 Ul §9 1 8 ?

21.

22,

What is the full form of FEMA ?
(A)
(B)

Funds Exchange Media Agency

Foreign Exchange Management
Act

Finance and Export Management
Association

©)

(D) Foreign Export Market Agency
qRA o GiIYM § S W U9 Teadr
forms T 2 2

(A) TSHgAH

(B) TwHadi gl |

(C) TagH

(D) ST & i3 &

The ‘Public Health and Sanitation’ is
included in Constitution of India in

(A) State List

(B) Concurrent List
(C) Union List

(D) None of these

TR T YT U] A& 38eh i W&l
TR

(A) T 3ferhR

(B) wiferes e

(C) T ifd o e o

(D) TH 9 1S el

Panchayati Raj System in India is laid
down under

(A) Fundamental Rights

(B) Fundamental Duties

(C) Directive Principles of State Policy
(D) None of these

i 23.

24.

25:

26.

e =1 3rferepr wen Aiferes tfereew 8, S
for mafta @

(A) 3TITBC21AH

(B) 3=8¢ 199

(C) ITWE29TI 308

(D) S H I TE

Right to Education is a fundamental
right, which is related to :

(A) Article 21A

(B) Article 19

(C) Articles 29 and 30

(D) None of these

v o 9 fome dfoum aw d Sgew
& T ?

(A) SR 188

(B) HTeH1 et

(C) .3TR. g

(D) S1.UH. U9

Who among the following moved the
‘Objective  Resolution’ in  the
Constituent Assembly ?

(A) Jawaharlal Nehru

(B) Mahatma Gandhi

(C) B.R. Ambedkar
(D) B.N. Rao

T wieu % feE  gese d
JTeuTETeh o fad ffea & 2

(A) 3T=®e2l (B) 31T 24
(C) FBE29 (D) H O hig T

In which Article of Indian Constitution,
the interests of minorities are covered ?
(A) Article 21 (B) Article 24
(C) Article 29 (D) None of these

319 Aotk H Y 918 Bid &
(A) SRH (B) =M
(C) HFsOaH (D) STHHBER

Current carriers in solid conductors are

(A) Protons (B) Neutrons

(C) Free Electrons(D) None of these
BETA21



27.

28.

29.

30.

31.

TR Y fehtreh AT I 3H1S & 7

(A) T a9 | AT} TS Tehe i i i
(B) ThaWH e d i g aehi s gii
(C) TR o H Tl o STehreT g =it 75 G4 b1
(D) TATESIET i Il <l

Light year is a unit of measurement of

(A) Speed of Rocket measured in a year

(B) Distance travelled by sound in a
vacuum during one year

(C) Distance travelled by light in a
vacuum during one year

(D) Speed of Aeroplane

ST oTeret 1 TERIfh A I8 Wi g -
(A) hfewam Tehe (CaSO,)

(B) hfcaay i aciNigs (CaOCl,)
(C) difezm sgehTai-e (NaHCO5)

(D) Gifgan TS (NaCl)

The chemical name of Bleaching
powder is also
(A) Calcium sulphate (CaSO,)

(B) Calcium oxychloride (CaOCl,)
(C) Sodium bicarbonate (NaHCO5)
(D) Sodium chloride (NaCl)

18-h G § W G4 1 gfderd &

The percentage of pure gold in 18-carat
gold is

(A) 60% B) 75%

(C) 80% (D) 100%

TRk H wgerrd o gt 8
A) fafimc  B) fwfima
(C) foifmB (D) A HE T

Orange contains abundance of
(A) VitaminC (B) Vitamin A
(C) VitaminB (D) None of these

72
196 56
(A) 18 (B) 14
(C) 324 (D) 212

BETA21

| 32,

33.

34.

35.

885x885x885+115x115x115 _
885x885+115x115-885x115

(A) 115 (B) 770
(C) 885 (D) 1000
-3 |
maﬁw%.
%is equal to :

+
(A) 4+415  B) 4-415
©) % D) 1

. | A 30% T T 3IThT fefshi
20% G TS | GHTGR i T T IEeHT T
THTE ST ¢

(A) 10% §@l (B) 10% &t

(C) 16% st (D) 16% =t

On decreasing the price of T.V. sets by
30%, its sale is increased by 20%. What

is the effect on the revenue received by
the shopkeeper ?

(A) 10% increase (B)
(C) 16% increase (D)

10% decrease
16% decrease

IR Raenfeai 1 3MTa 30 18.5 a9 7 | 3R
I <h1 37 i 3TH I < ST a1 37
30 20% ¢ AT &, Al hid hI ST F :

(A) 28ad (B) 31ad

(C) 348 (D) 37§

The average age of four players is 18.5
years. If the age of the coach is also

included, the average age increases by
20%. The age of the coach is :

(A) 28 years (B) 31 years
(C) 34 years (D) 37 years



36. “Thol o1 foreim veg &
(A) =g (B) wIH
(C) g (D)  3¥ehel
37. ‘T I UFEEE HA R ?
(A) fawwr (B) 3TEHKR
(C) = (D) T
38. ‘H9 ! & arel’ a9 & fore = fou o
Tohed © | Teh 16g T :
(A) wHih (B) I
(C) wem&d (D) Hewt
39, TR HER 9T gErer i 31 forfie |
(A) TI&l Y T BT
(B) IS H 5igd e
(C) =gd ST
(D) W ST
40. & a1 T = HINT |
(A) TEcashiem  (B) HIEcATehIan
(C) HewThIan (D) HgTcATehIal

Directions : Read the passage carefully and
answer the corresponding questions : (41-43)

Nehru’s was a many-sided personality. He
enjoyed reading and writing books as much as
he enjoyed fighting political and social evils or
resisting tyranny. In him the scientist and the
humanist were held in perfect balance. While
he kept looking at social problems from a
scientific standpoint, he never forgot that we
should nourish the total man. As a scientist, he
refused to believe, in a benevolent power
interested in men’s affairs; but, as a self-
proclaimed non-believer, he loved affirming
his faith in life and the beauty of nature.
Children he adored. Unlike Wordsworth, he
did not see them trailing clouds of glory from
their recent sojourn in heaven. He saw them as
blossoms of promise and renewal, the only
hope for mankind.

A

i 41.

42.

43.

44.

45.

46.

A many-sided personality means

(A) acomplex personality

(B) asecretive personality

(C) aperson having varied interests
(D) acapable person.

Pt. Nehru enjoyed

(A) reading and writing books.

(B) fighting political and social evils.
(C) resisting tyranny.

(D) doing all these and much more.

Which of the following statements
reflects Pt. Nehru’s point of view ?

(A) Humanism is more important than
Science.

(B) Science is supreme and Humanism
is subordinate to it.

(C) Science and Humanism are equally
important.

(D) There is no common ground

between Science and Humanism.

Give Synonym for the following :
Famous

(A) Awful
(C) Popular

(B) Poor
(D) Steady

Give Antonym for the following :

Transparent
(A) Obvious (B) Limpid
(C) Opaque (D) Clear

fqu U foehedl H © HEfUq w1eg 1 @A
i :

gefifersr : wafl :: et ;2

(A) T (B) T

(C) wHa (D) TITERo

Select the related word from the given
alternatives :

Ornithologist : Birds :: Anthropologist : ?
(A) Plants (B) Animals

(C) Mankind (D) Environment

BETA21



47.

48.

49.

50.

3G 3168 1 I hITTT ST HHg % STeh! IIeqi
T A &} @ |

(A) <& (B) HHEH

(€) @« (D) TR

Choose the word which is least like the
other words in the group.

(A) Curd (B) Butter

(C) oil (D) Cheese

ferell Tfve@ e § PRODUCTIONS i
QQPCVEUHPMT for@n St & | 351 e
T ORIENTATION fore Sehr feran s 7
In a certain code, PRODUCTIONS is

written as QQPCVEUHPMT. How is
ORIENTATION written in that code ?

(A) PQIJDOVBSINO
(B) PQJDOUBUJPO
(C) PSIFOVBSINO
(D) NSHFMVBSINO

e St 3TR 39 HAd gQ (e | e, «F
3! [T % A T Fehedtal 94 & 17 $a,
Tieet & ford TohR Efd & ?

(A) 31 (B)  Hcitsit

(€) = (D) ==l &
Pointing towards Rita, Nikhil said, “I am

the only son of her mother’s son.” How
is Rita related to Nikhil ?

(A) Aunt (B) Niece
(C) Mother (D) Cousin

e foreft o o 25 37T I TRAR 7, T IR
HEH H HHAR %1 H&A1 8
If the 25" of August in a year is

Thursday, the number of Mondays in
that month is

(A) 3
© 5

(B) 4
D) 6

BETA21
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52.

53.

54.

1 5 & fopg et H T8 189 qATSHT
&1 TR &l g3 8 2

(A) IR (B) A

(€) =% (D) &

In which of the following cities Light
House Project is not implemented ?

(A) Agartala (B) Ranchi

(C) Chennai (D) Patna

1 T AT QU= ko fereat <hl wi=rell
Y A SIS B 2

(A) Temra-fast B) e wrew
(C) asfean (D) dIE®HE
Which Indian telecom company is
world’s fifth strongest brand ?

(A) Reliance-Jio (B) Bharti Airtel
(C) Idea (D) Vodafone

§ics (BOLD — Bamboo Oasis on Lands
in Drought) IS 8Tt 21 | Wi o fohe
T § 36 61 T8 2

(A) TIEH (B) &

(C) forr (D) WA e

The Project BOLD (Bamboo Oasis on
Lands in Drought) was recently launched
from which state in India ?

(A) Rajasthan

(B) Haryana

(C) Bihar

(D) Madhya Pradesh

GIH Y 1 Dl (COVAX) TISHT
AT HIfIS-19 T R Jd= TH ATt
UEAT I S AR 2

(A) =T (B) HTESfifen

(C)  3TshIeh (D) HsH

Which is first country to get free COVID-
19 vaccines through the COVAX scheme
of United Nations ?

(A) Ghana
(C) Africa

(B) Nigeria
(D) Sudan



5S.

56.

57.

58.

Jalke o I arell WRA™ 7l gEld | 59.

3TerdiehY mfger sTafem & & 2

(A) TrfwsTeen (B) 9 sTEe

(C) Tl (D) heud AEdl
Who is the second Indian born American
woman astronaut to fly to space ?

(A) Sirisha Bandla (B) Shreya Badla
(C) Ritu Karidhal (D) Kalpana Chawla

36 WA UEeAaH o1 A 9 8, R W Ee &l

T I ok foTu <1 9ret hi Sderer o TR 2
(A) IMweRed  (B) gfua Afers
(C) Mafdz (D) v FR

Name the Indian wrestler, who gets two-
year ban for doping recently.

(A) Yogeshwar Dutt

(B) Sumit Malik

(C) Ravinder Singh

(D) Pawan Kumar

T bl 98 ohi HT JUH TSI B, STal We—
T-TUE §-hiere TuTTeft w1 <t TRft 2 2

(A) Smuem  (B) feHreet wem
(C) T (D) &

Which State in India is first state to
implement an end to end e-Cabinet System ?
(A) Uttar Pradesh

(B) Himachal Pradesh

(C) Goa

(D) Haryana

fopa IR waTer g B & § 2019-
2020 % fotu 3 €h.3718.wH.3.+ (UDISE+)
& feran T 2

(A) WA T (B) e geme™
(C) fmmem (D) & HAe™
Which Indian ministry recently launched
UDISE+ for 2019-2020?

(A) Ministry of Health

(B) Ministry of Education

(C) Ministry of Finance
(D) Ministry of Home Affairs

60.

61.

62.

WERH fmtar e 3 forg fhehe faaret

I I SIS Treget e foha 2
(A) fRe®Est (B) w.uE. g
(C) S9ra 3t (D) TR gam

Smartphone maker ‘Vivo’ appointed
which cricketer as its brand ambassador?
(A) Virat Kohli

(B) M.S. Dhoni

(C) Ishant Sharma

(D) Shikhar Dhawan

IiERIEE sefesia (Al i@ 9’
“SUPACE” WRd # e =™ & foiq
& Teram T 2

(A) feeeh 3= =mme

(B) TSRId 3= A1

(C) Tat= e

(D) T4 & HIS TE

Artificial Intelligence (AI) based portal
‘SUPACE’ launched for which court in
India ?

(A) Delhi High Court

(B) Gujarat High Court

(C) Supreme Court
(D) None of these

fopan AT U= ot & T |
g7

(A) T (B) =W

(©) . D)

How many Indian States share their
boundary with Nepal ?

(A) Five (B) Four

(C) Three (D) Two

i a o e f raf s R 2
(A) &S (B) @M

(C) et (D) @reht

Which of the following is the capital of
Costa Rica ?
(A) Beijing
(C) Delhi

(B) SanJose
(D) Dhaka

BETA21



63. heS3TIIYd T3 AT hl 3TTeRTieh W9

64.

65.

66.

BETA21

fdawng e
(A) dftret (B) TerITe™
(C) e eurt (D) fhgem

Which among the following is the
official language of Union Territory of
Lakshadweep ?

(A)
(B)
©)
(D)

Tamil

Malayalam

Great Andamanese
Sinhala

W o HGYT o STTHR Al HHT b HE&
<Y 3Tfrehaq T R R 2

As per Constitution of India, what is the
maximum  strength  (number  of
members) of the Lok Sabha ?

(A) 530 (B) 540
(C) 550 (D) 552

fe=i fema e v SITaT 8 2

(A) Ta=R14  (B) SR

(C) Ta& 2 (D) 3TFEH 3

When is ‘Hindi Diwas’ celebrated ?

(A) September 14 (B) October 1
(C) November2 (D) October3

30 T IF 91 < 9Th (SAARC) &1 T
T8

(A) e

(C) STHITEH

Which of the following countries is not a
member of SAARC ?

(A) Nepal (B) Bangladesh
(C) Afghanistan (D) Myanmar

(B) eIey

(D) MR

' 67.

—-10-

68.

69.

70.

= 4 9 fpm wR W 3Nar-ta
ToTd ferd & 7

(A) ST (B) fewett

(C) 3TTETe (D) &S

In which of the following places Ajanta-
Ellora caves are situated ?

(A) Bengaluru  (B) Delhi
(C) Aurangabad (D) Lucknow

ST ford AT TS /ehg3mid TSt bl
TR Ieh 38T & ?

(A) 3EH (B) &

(C) dferTg (D) HAeH

Onam is the cultural festival of which
Indian State/ UT ?

(A) Assam (B) Kerala

(C) Tamil Nadu (D) Karnataka

frafofea § & o9 @ 7= gf % T
ECER I

(A) T (B) =g

(C) = (D) g4

Which of the following planets is closest
to the Sun ?

(A) Earth (B) Moon

(C) Mars (D) Mercury
TS GEERR STicH et T2 TR & & 2
(A) ST (B) TSa e

(C) WA &M (D) Het @
Who was the first Asian Winner of
Nobel Prize ?

(A) C.V.Raman

(B) Rajiv Gandhi

(C) Rabindranath Tagore

(D) Mother Teresa



e frforRaa e bt ey ufew qeun 34
T 3MTRE F¥AT (71-75) % ST AT -

TAA | G ol TaiTeeh1aTi ol IgT-waTh
foTu gume S o forg TS | fava w1 sifgen
w31 WM foham | TieEfiSft skt hd 3 R I
3R AT o GRT Torval % HaR H HIR &ed !
¥ff SHTHT ST ST Thd 2 | 378 37 fagTdi b
dveqor oft feran s S “Frama’ wher frg Bw | &
¥ fea agdt &, “FO’, JUI I 54 ¢l & 3R I
° un 6 Afelg Bt 2 | 31 78 Hiad 8 fe
for S 3Tk afee o forva o snf=q wefie 7t &
Gehdl | IM=T o A9E | TG S 1 foeh
TR T | Tk TP <1 Lafoia -3 o€l sl ST
], Tefes Igi gl wifer 3TN F@ Te1 &1 9 SaH s
T i bt SITd &1 | Hifqe gfE § =R
3R iy <6t 3af off wriforehrer § & Heva Bt 2,
37d: g9 A1 forvd 1 o1 =1ed & df &6 96 i
FTEShR BT &1 BT | SAfEET ST S hi wra T |
Terear # wnif=a Tefua e Bl et fove & gema
T ST T ShT AT TS B |

71.  fova o wnfa w0 smawEs 8 ?
(A) HTE T o ferepmd o forg
(B) SAHIIH TEHTcHS 1 o foT
(C) =R 3R HfY 1 3afa & forg

(D) 3R U H3R ged ! it et a9
= fag

P72,

73.

74.

75.

Terga wnifa b wemgat & fou 9e@ smavaes
H

(A) e st
(B) 3fewn 3R Iw
(C) SATcHrrar TR Fefiar
(D) Uit 3R I

HAX U T3l Bcd bl Hl hiHA 91— S

Hehdl 3

(A) I 91 gra
(B) HIN e gT
(C) ifeEngr

(D) WA g™

fereft oft 11 < Tl -3 & ygE a@ &
(A) &9 3R Avg

(B) & 3R ¥H

(C) 3ATEATeH 3TR SUTAT

(D) wnf, g 3T AT S

“fraT=a’ 3Teg 1 ITYH T B
(A) wehuifa

(B) forspa

(€) faferm

(D) Fm=

BETA21



e« Frforiaa e 1 g few qen 3

T 3TTTRA J¥AT (76-80) 3 T AT :

R 31e & wHa-Sftem 1 tfaarss va
Ty 37 &9 T} | A -Sfed & hig off &
fersrt o 3rgfaud srfershril & 3regan 7 w81 | 3
T sy I famm &1 I FHaar 7 | T
fomm 3 gy 3R T, anfecrsr 3R Ui,
et 3R e, Yfafa 3 sfie, fafeas
3 8fes, A ot e aen s 3R
Tt @i 1 3R |t & | fopeft 7 forelt &9 4
39 ST T | TG fohaT B | 3T T
et fersma &1 e @ | fore < =t feoft
THISER | ot SS1-9g] ATl el Woldl 3R
ETTersh13tl | 21 3T T Bid, T of $et 3R
ST ohl HHTST hl ATeeRt ST<IE | W TThrefia
2 | T T Srae qee 6 ged &g i
I E | 36k 9 § TS e 3 SIUSTd
1 rmfor 7 wem 2 | T & 31igus @ 98 a
TehT <hl Flaenati 3T Trersti 1 WiHe I8
FHUFHT ¢ | 376 T8 - g3 o Fehld H HATHId
e T Tl 2 | foea 9 38 SArented foha 2,
ISTAT 3T St €t 8, 5 gareht fohgl ¥t
1 TF0H T 1 qrehd i & & | AARST o fafag
TIEE IW gAY & | ITATd T H9R o JIEH1
forepTe € WH 3TN AT 1 g1l 98d 81 7S o
3R T fovd weh 9iER-|1 & o § | iy
I I o & H IcqTeH <hl <fiel gfig &M o
TS RN e ¥ T oH-aT & TR 7
e iR fafecr & &3 o fogm &t &
AT 2 | T & T & osa ot 37k
TG o 3T (@ BT Hhich 316 TINE
WA T oIS L G & | Faman, fos = 93 i
itgsh foeprE YoM foram 8 3TR AFfTieh T -
gfa & 2 | Ame faa-ugfa @ aqs
FrfavaTdl 3TR &fe -TaUsti 8 Iw gl w8
Td Tgfetd & ¥ Hie - foem ot ekl & 3T e

BETA21

| Ud TR S1aF i Tehdl & | ST TS o T4 i

i o SFrufavaTEr, YUl 3R gl foem,
I 3TN 3T § g fireft 2 | fomm Fr 7w
A & | e ol =Ry fob o fors <l 3@ T
T I T BT H G e |

76. fosie ae < wed o) it sEfere S
T & A1 0 o T AT
(A) Togd e wremig |
(B) Sohfer 37 yTfUrsiTe ot RRAR 2 |
(C) Tt viifees glaensti @ o= 2 |
(D) IA=eT % & U gEdald HL Hehal & |

77. S fadA-vgla 3 9T &1 qe S
39HR g fhan 2 fop 30 g fireft 2
(A) Fgfea Fgfa=e &
(B) YUt RrE sftu=mfenanst &
(C) yHYU Sfgard! fe=mon &
(D) ST= ek ieh TSt &

- 78, Tz % afErad o 1 T HE R

(A) IR Td TR ETEHT <61 o™
(B) fasma & nfasfier st
(C) Tomi i St @ afgar
(D) Torva--Ycd shi WIaHT o foehd

79. ‘TS g O N B
(A) 3THIE Yig R ST
(B) UTE H W@ 3Tdt i TE
(C) w1eft & foru stfae i ai
(D) T8 3N I ST

80. “AuTieh-To=aa Yoy W 3T B
(A) TR fema
(B) wTaTeHe fa=H
(C) azri-ent gr Tk o faeaa
(D) TereY T Fgferd ferme

-12- A



féw (81-85) : e feu U uTh W amenfia B |
T o IR G |
Directions (81-85) : The questions are based

on the below shown graph. Answer these
questions.

T § Teh W& § 7 BT o $hamd 37 e
3{eh! T TTITA ST AT R |

The graph shows the ratio of marks of History
to Geography of 7 students in an examination.

1.6
1.5
1.4
13
1.2
1.1
1
0.9
0.8
E')O]
0.6
0.5
0.4
03
02
0.1

1.55

(Ratio)

1 2 3 4 5 6 7
B (Student)

81, Fre o wyiver 1 ariven gfer §
3o 3R fopm 2
How many students got more marks in
History than in Geography ?
(A) 2 B) 3
<) 4 (D) 5

82. fr= § @ fopd BT 1 e B 3man
3ferera & u 37 et 2
Which of the following students got less
marks in History than in Geography ?
(A) 1,3,5,6 B) 1,2,3,6
(C) 1,4,5,7 (D) 4,5,7

| 83. WTTIcI H B 3 | 4 % ALY 37eh i Jawrd

§gd R -

Percentage increase of marks in
Geography from student 3 to 4 is —

(A) 15

(B) 20

(©) 90

(D) 3ATehg 319ATH/ Insufficient data

84. sfoem/yia % stfusan g 3R
[FH 7T T 3T 7

The difference of the maximum ratio and

minimum ratio of History/Geography is

(A) 0.45 (B) 0.50

(C) 0.90 (D) 1.20
85. B 4 H YA H 60 3 el | 35k

Sfaed 37 &

Student 4 got 60 marks in Geography.

His marks in History are —

(A) 48

(B) 68

.

(D) S0 9 kIS 781/ None of these
fewr (86-90) : T w1 reIEA K fferiad
Hﬁ%waﬁ ;

Directions (86-90) : Study the graph and
answer the following questions :

TS T T ITEA HifgwH e |
304 Production of Raw wool in Metric Tonnes
76
75+ 7
70+ 68
65 /
65+ p

55+

7
60+ é
/

50

2013- 14 RN L
2
15-16 N
2020-21 NNy =

2014-15

2018-19 RN 54

2017-18
019-20

N

86. T Il oh IATC H IATH g 1 Y AT :

The maximum rise in the production of
raw wool was in the year :

(A) 2017-18 (B) 2020-21

(C) 2016-17 (D) 2019-20

BETA21




87. UEH TR 9T % IcqTed i qorl B rfm 1 fdw (91-95) @ & WE arferR % SmER W

IR T § e I T ScATEH % | TfTiad Sl % 3T T
EERIEIN Directions (91-95) : Read the following table
Durine the last £ h ducti and answer the questions given below it.
uring the last four years the production +o e S o A
of raw wool increased by % on = El
the production of the first four years. Yearly Commission Earned by Five
Salesmen
(A) 268 (B) 222 T | 2015 2016] 2017 2018] 2019 2020
(C) 19.8 (D) 25.0 (Year)
: SrEoEE)
88. 3713 TN % GRIF 3THd ScdTe o Salesman)
, . . A 27350| 28,500| 25200| 29.800| 24,600 27,000
The average production during the eight B 26850] 27.900] 27400] 28000 28.500] 29.000
years was : C 26,200 27,800 28200| 29,100 29.400| 30,000
D 27,850| 30,040 29,800 30,060 29,800| 32,000
(A) 672MT E 28640 29,000 28,750 30,000 29,750| 29,700
(B) 62.5MT ANT (Total) | 1,36,890| 1,43,240 | 139,350 | 1,46,960 | 1,42,050 | 1,47,700
(C) 50.0 MT 91. froad g TeHAT C g 31fia SHivH fUset
(D) 52.8 MT T8 % g § ST gfig gutar ? ¢
In which year commission earned by the
. ’ salesman C showed the highest increase
89. 3IcUeA # fuset oy ded-t o 3rfershan that of the preceding year ?
Tfard Ted ford o Wi ? (A) 2016 (B) 2017
(C) 2018 (D) 2019
The maximum percentage decrease of ! 5 .
production over the previous year was in 92. 92018 5 B e K2
the year : 3t 9 &% FoA FHNE HT AT Feh
(A) 2018-19 (B) 2017-18 ST o ?

In the year 2018 the commission of B
was approximately what percent of the
total commission earned by all salesmen
in that year ?

(C) 2013-14 (D) 2014-15

90. 2014-15 H %=l I T IcdTeH 2019-20

(A) 19.05
3T bl a1 | (B) 98
The production of raw wool in 2014-15 (©) 80 . .
was of the production in (D) THH I$ &1/ None of these
2019-20. 93. Toh® THHA T 2018 H HHlRM, 2015 i
a L ® 2 T | I=qH ghg guria @ 2
3 3 Which salesman’s commission in 2018 show
1 3 the highest increase over that in 2015 ?
© 5 (D) " A) A (B) B
(€ D D) C

BETA21 - 14 - A



94, T T 9 form a9 T foreht oY Towdq gra 31fSia ¢+ 96.

A 3T =LAH HHIIH ohT ST JTerehad g ?
In which of the following year was the
difference between the highest and

lowest commission earned by any

salesman maximum ?
(B) 2018
(D) 2020

(A) 2017
(C) 2019

95. 99 2019 H Qe@dd D g 31fd wHITE

A g 3T HHIRHE T AT feRadn o7
Tfara 8 2

In the year 2019, commission earned by
salesman D was approximately what
percent of commission earned by A ?

(A)
(B)
©)

18
21
52

I hL T = feu wo i = W e

Directions (96-100) : Study the table and

answer the questions given below :

Tl w1 # 91 IR St H G @iai <hl

@& (SHSI H)

Number of accounts opened (in hundreds)
in four Share broker in various months

(D) 3T T i3 &1 /None of these S
T3 (96-100) : € 7 rferent/wmeft 1 LTS

99.

IRR

W/ | W/ | T/ [/ |/ | R/
Share May|June| July | Aug. | Sept.
Broker

TSl / 25 | 28 35 65 55

Angel 100.
G/ 22 | 18 32 30 45
Sharekhan

ST/ 30 | 45 50 35 40
Zerodha

Egga/ 35 | 42 45 50 60
Tradebull

A —-15-

frerferfiaa § & fba oy § g @ 6
T ! 3 HEdH @ 7

(A) (B) fereesr

(C) I (D) #3

In which of the following months is the

average of the number of opened
accounts the maximum ?

(A) June (B) September
(C) August (D) May
ST H Gl @i <hl T S H Gol @i <hl

AT Y T fehd SfereTd shH 31 s3mer o 7

The number of accounts opened in Aug.
is approximately what per cent more or
less than the number of accounts opened
in June ?

GA)33.5 (B) 353

(C) 346 (D) 40

TS T FawsR deh Ustet § ot Wi <hl S &
SRIET T ol WAl h! T o1 3T 7 ?
What is the ratio of the number of

accounts opened in Angel to that opened
in Zerodha from May to September ?

(A) 1.5 (B) 0.75

(C) 225 (D) 1.04

TR IR SR | ol @Tal <hi 37T8d &
HETH & ?

(A) T (B) @M

(C) g9 (D) i

In which Share broker is the average
number of accounts opened the maximum ?
(A) Angel (B) Sharekhan
(C) Tradebull (D) Zerodha

S H Gol WAl oh! T 31 376d IEH
H gol WAl hl T&AT o 1Ed 1 aTHT
TeRaHT ST ShW 2T SITET AT 7

The average number of accounts opened
in Tradebull is approximate what per cent
more or less than the average number of
accounts opened in Sharekhan ?

(A) 57.82 (B) 60

(C) 45.90 (D) 50.69

BETA21
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